1. Code (or recode) the nominal variable as a dummy vector or vectors ( i.e., code with the values 0 and 1 )
2. Crete an interaction vector(s) for the interaction between gender and achievement motivation.
3. Test the hypothesis that achievement motivation and gender interact. What is R2 change?
4. What is the probability that the change in R2 (question 3) occurred just because of sampling error?
5. Therefore what decision are you making about the interaction?
6. Prepare a scatterplot showing the separate regression lines.
7. What is the regression line for males?
8. Therefore, what is a1, the intercept for males?
9. Therefore, what is b1, the slope associated with the continuous variable for males?
10. What is the regression line for females?
11. Therefore, what is a2, the intercept for females?
12. Therefore, what is b2, the slope associated with the continuous variable for males?
13. Using compute, calculate X2 (the continuous variable squared) for each subject.
14. What is N (the total number of subjects)?
15. For males, what is 
N (the number of subjects)?
The sum of X (the continuous variable)?
The sum of X2?
And the mean?
16. What is SSX for males?
17. For females, what is 
N (the number of subjects)?
The sum of X (the continuous variable)?
The sum of X2?
And the mean?
18. What is SSx for females?
19. What is the F statistic at .05 with 2 and N-4 degrees of freedom?
20. What is SSresidual (from the regression analysis)?
21. Calculate A (p. 593)
22. Calculate B (p.593)
23. Calculate C (p.593)
24. Calculate X (p.593)
25. What are the regions of significance?
26. What a short paragraph reporting the results.
